
4. 

1. At what temperature will the Celsius and the Fahrenheit values be equal ? (A) + 40 

(A) + 40° 

(C) Blue Revolution 

2. Dr. Verghese Kurein is the Father of 
(A) White Revolution 

(A) GaJGT GO LDÜ yp 
(C) Ban yJ 

(A) Assam 
(C) West Bengal 

(A) yavowTD 
(C) G1odG QU`GD 

3. Where is Manas Biosphere Reserve is located ? 

(A) Portuguese 
(C) Danes 

(A) GuntBgBAut 
(C) GLasflagni 

PART -A: General K Knowledge 
(B) + 100° 

(B) + 100° 

(A) October -2 
5. World AIDS Day is observed on 

(C) January -26 

(A) 
g0GLMId - 2 

(C) gaou-26 

(C) 0° 

(C) 0° 

became the first European power to establish trade link with India. 

Revolution. 
(B) Green Revolution 
(D) Red Revolution 

(B) LISOLDn LYJLA 
(D) PaL;n ygiA 

(B) Meghalayaoagy 
(D) Himachal Pradesh 

(B) GLD1OWI2e. 
(D) Qo`sN) Lg Gsob 

(B) French 
(D) Dutch 

(D) 

(D) L`r`SNgt 

(D) � 40o 

(D) � 40° 

(B) L90gGjh/Ngt O 

(B) December - 1 

(D) June -5 

(B) qFbud� 1 
i-5 



6. Statement I 

Statement II : 

(A) I only correct 
(C) I and II correct 

Lapse rate is the decrease of Temperature at the rate of 6.5°C for every 1000 meters of ascent. Jet streams are the fast moving winds blowing in a narrow zone in the 
upper atmosphere, 

Statement I : aæUGODA aSsh asin nÝ QiGonG l000 bLL0 2wgasDGD 
5`S Qounußn GOpyD. 6.5°C GTG�ID 

(A) I oLQ� sil 
(C) I opDD II sfl 

Statement II : JoflosaTL GU}Si uut aG5ofl 50Bw LGS5oilo GavsDTS 

(A) Karur 

7. Statement I : ATown Panchayat has about 10,000 population. It is between a vilage and 

(A) I only correct 
(C) I and II correct 

(C) Namakkal 

(A) 65t 

a city. 

Statement II : Those areas which have a population of more than one lakh and high amount 
of revenue and is found in the level below the City Municipal Corporation 

(A) I LoL'Go s 

(C) BTo`GO) 
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is called a Municipality. 

(C) I opDb II sn 

6TO8TLILJQD. 

founded Vaanagam ? 

(B) II only correct 
(D) I and II wrong 

(B) II o=QU sfl 
(D) I Log�gLD II 56JgI 

8. In which district of Tamil Nadu, J. Namavar a supporter and expert of organic farming 

(B) II only correct 
(D) I and II wrong 

(B) II LoL'_GL� S 
(D) I LopgD Il 5ap 

(B) Salem 
(D) Tirunelveli 

(B) GravLD 
(D) S0OGa 

A 



9. Countries where Tamil is an official language are 

(A) Pakistan and Nepal 
(C) Mauritius, Seychelles 

(A) unaivg, ToðT, GUTOTLD 
(C) Qoni afwe, Gsaga 

(A) Mie Scattering 
(C) Raman Scattering 

10. Colour of the sun appears red at Sunrise and Sunset because of 

(A) Õ-QoflaPspi 
(C) QorDs`T Poflgpa 

(A) Exosphere 
(C) Mesosphere 

(A) GlauofluGåG 
(C) 9oLWGhaG 

11. Which layer of the atmosphere protect us from falling meteors ? 

(C) Acquiring property 

(A) LApLciT pa 
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(B) Canada, Malaysia 
(D) Singapore, Sri Lanka 

(A) Statement I is correct 

(B) 560TL_T, LD GovwT 

(C) Statement I and II are correct 

12. Which of the following is not a condition for becoming the citizen of India ? 

(A) Birth 

onDD, II 

(B) Rayleigh's Scattering 
(D) Tyndall Scattering 

(A) onDo I s 
(C) Gonjp I LopOo ll sf 

(B) rG gofasp 
(D) 4 6ösTLTÔU PO0GPspa 

(B) Thermosphere 
(D) Stratosphere 

(B) QaæUI 0iG 
(D) uOL WG 

(C) GsnÝHioLD GUDJNGG0 eLpoULD (D) QwDy G4uymoio Lpab 

(B) Descent 

13. Statement I: Acid rain is caused due to the presence of Sulphur dioxides and oxides of 
Nitrogen in the atmosphere. 

Statement II : Acid rain is helpful for the growth of marine life. 

(D) Naturalization 

(B) QJLDET QULlul£T LpD 

BGL. 

(B) Statement II is correct 
(D) Statement l and Il are incorrect 

(B) 
(D) 

n DD IlI sfl 
�DI I LoÖOILD II SMIa 



14. Statement I : 44th Chess Olympiad games 
held at 

Mamallapuram near Chennai 

during 2022. 

(A) I only correct 
Statement II : Chess Olympiad games are 

conducted once in 4 
years. 

(C) I and II correct 

GuTGSwo II: soN QaLDLIuT 4 

JN0Swb I : 44 JSI lsov poLDLAwmL 
LDMLDGNU;TIS 2022 L� 

(A) I LoQro s 
(C) I LoHDJLD Il sn 

(A) Virudhunagar 
(C) Tirunelveli 

(A) a5SIES0 

15. In which district is Pulangunichi Inscription found ? 

(C) SG5 GoJa) 

16. Which is the capital of Ukraine ? 

(A) Moscow 
(C) St. Petersburg 

(A) LDToN GsT 
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(C) GsuNGiTL LSL0u ui� 

(C) Platinum and lead 

(B) II only 
correct 

(D) I and II wrong 

18. What is the expansion of RT-PCR ? 

(B) II LDLLGL� Fr 

(D) I Lo�OJLD |l Sm) 

(B) Tuticorin 
(D) Sivagangai 

(B) 13SJ`G4 

(B) outoN 4 gTG�TGNVBIAL'IacâT -

(D) Fol5`IGDS 

(B) Kiev 
(D) Lviv 

17. Fuse is a strip of alloy wire which is made up of 

(A) Antimony and tin 

(B) Bo 
(D) Sloloi 

(B) Lead and tin 
(D) Copper and iron 

(A) gosTLQ. LDGIÍl LDDDJLD Sfub 

(C) LNomTLL4.65TLD LDDDJLD GlawoToUiD (D) STLb0JLD LD�DJLD QGLDLY 
(B) QaG0TofWLD Lo�DJLD S5ITfuILD 

(A) Real Time - Polymerase Chain Reaction 

(B) Reverse Transcription- Polymerase Chain Reaction 

(C) Reverse Transcription-Positive Chain Reaction 

(D) Reverse Transcription-Polymnerase Covid Reaction 

RT-PCR T OlosnssL� 6TG�T68T ? 

(C) ostav L4gTGiraVBAacôT � ITE4.oi Osuloör ruuntes 

(D) lautav 
LggnGiTGViagG`T - umeD Bro Gsna uraagsßT 



9. Vyomamitra' a lady robot - related to 
(A) Gaganyaan Mission 
(C) Chandrayaan Mission 

(A) s56iTJTG0T BLLU 
(C) sBSgTw�T LD 

(A) I only correct 
(C) I and II correct 

(A) I DQLD s 
(C) I Lo�ND II sf 

20. Statement I: Three systems of revenue collection had been introduced by the British. 

Statement II: 'Ryot' means cultivator. 

21. India's Gaganyaan Mission is related to 

(A) Human Space Flight Programme 
(B) Artificial Rain Scheme 
(C) Scheme on Rain Water Harvesting 
(D) Scheme on Electric Vehicles 

(B) Gsupns LDGnp LL� 

(C) DNpßi Grs'y BLLÒ 

22. Match the following : 
i) Rani Rampal 

psæUOBSÜULLgI. 

(A) ofs olciTlauo uwGOSTÝSLLb 

iil) Mithali Raj 

QBBunaloiT 556ßTITG`T LDagcßt GT5G9JL GßT GIL0YOLWSI ? 

iii) Hima Das 
iv) Mirabai Chanu 

(A) c, d, a, b 

i) grosf gmbunU 
ii)) Lgna) gn 

iii) gbDT STo 
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(D) LlÏTEITJ OIST`IS (OhaSNGT LLU 

(B) Mangalyaan Mission 
(D) PSLV �C46 Mission 

iv) LblgTITÚ0 FNO 

(A) c, d, a, b 

(B) D`soTUNG�T g=LO 
(D) .6TeV. 6TG). 6o. - 46 BL� 

(B) a, b, c, d 

(B) II only correct 
(D) I and II wrong 

(B) a, b, C, d 

(B) II LoLQL� FÂ 
(D) I o�DLD II 5og 

a) Weight lifting 
b) Running 
c) Cricket 
d) Hockey 

(C) d, c, a, b 

a) uabgNGSU 
b) Gi 
c) BrflG6 
d) aonE 

() d, c, a, b 

(D) d, c, b, a 

(D) d, C, b, a 



Which one is required to produce acceleration of a body? (A) Velocity 
() Density 

(A) BoFGo5b 

(C) Lings 

DgÜ-21 

GuTGSuwLD I 

24. Which Article provides the Constitutional Remedies to the citizens at the Supreme Court ? 
(A) Article-21 

(A) I LDLGL� Sf 

(C) I o�DD II Ff 

26. Match the following : 

a) India 
b) Australia 

(B) Article-32 

c) Malaysia 
d) Saudi Arabia 

(A) 3, 2, 1, 4 

a) 9wn 
b) NS Gyoun 
c) LoGaur 

pÜ32 

25. Statement I: Vegetables and fruits are appealing because of their bright and variable 

colours which are due to pigments present in the plastids of plant cells. 

Statement II: Chlorophyll is the green pigment of leafy vegetables. 

(A) I only correct 
(C) I and II correct 

(A) 3, 2, 1, 4 
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d) soys yGguun 

(B) Force 

(B) 2, 1, 4, 3 

(D) Displacement 

(B) ano0)4 
(D) 9LiGUwis 

(C) Article-15na(D) Article-18 

(B) 2, 1, 4, 3 

(C) e gçy15 

(B) II only correct 
(D) I and II wrong 

1) Dollar 

2) Rupee 

(B) II LDL-QL� Ff 
(D) I LoDDD Il 5JI 

3) Riyal 
4) Ringgit 

(C) 1, 2, 3, 4 

1) LMoUt 

2) e5Imú 
3) fusrGU 
4) flrBs6G 

(D) 20LIL-18 

(C) 1, 2, 3, 4 

(D) 4, 3, 2, I 

(D) 4, 3, 2, I 

A 



27. Statement I : Since snakes do not have legs, they use their muscles and scales to move 

Statement II : Movement of snake is called gliding. 
(A) I only correct 
(C) I and II correct 

(A) I LoLQò s 

(C) I Lop ll st 

28. Match the following: 
(National Parks) 

I) Gir 
II) Ranthambore 
III) Sanjay Gandhi 
IV) Corbet 

(A) a 
I II III IV 

(B) a d 

(D) c 
(C) c d 

b 

a 

(B) a 

) oBsuGunt 

(C) c 

C 

(Gguya1s) 

IV) sniQUL 

(A) a b 

(D) c 

C 

I II III IV 

C 

C 

d 

a 

b 

a b 

d 

b 
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b n 

(B) Il only correct 
(D) I and II wrong 

(B) II Lo=QLD sÂ 
(D) I opgD Il 5og 

(States) 
a) Gujarat 
b) Rajasthan 
c) Maharashtra 
d) Utarakhand 

(Lonßd) 
a) G90nG 
b) gngoivgnG`T 
c) LD5IgroL4oT 

d) easDG1G0T L 



29. Which of the following is an dielectric ? 
(A) Silver 

(B) Copper 
(C) Glass 
(D) Iron 

spåsoisLaJD�T 
(A) GossiTaf 
(B) 5mLbgb 
(C) 560sT GIOTITLQ 

(D) QG�LY 

30. Select the correct answer. 

(A) Rajya Sabha-300 members 

(B) Tamil Nadu Legislature� 120 members 

(C) Lok Sabha - 545 members 

(D) Pondicherry Legislature-100 members 

(A) LDTß)aiisANGDQl-300 egiLleatso 

(B) SLByps FLDGTDL� � 120 2 gLLNGtiso 

(C) LossaTGN OI -545 
2_nÜLeNtse 

(D) 

-9 

unoiI LQ Gsf 
s'LDGIDL0 - 100 

2DLILSoT0S` 

31. Which battle was laid the 
foundation of the Mughal Empire ? 

(A) Battle of Khanwa 

(B) Battle of Chanderi 

(C) First battle of Panipat 

(D) Second battle of Panipat 

9suna ypsTU 
(A) s/1oTOIT BLnt 
(B) sBGsii BUmt 

(C) (D) G`TL _TLD 

234 
234 

222 



OW many years tenure of the Village Panchayats ? 
A) Ten years 
C) Six years 

(A) Citric acid 
(C) Hydrochloric acid 

During the muscle fatigue which acid is accumulated in the muscles ? 

(A) Gå av 

(A) LblbS JDS 56ÜY 

(C) LoGsfls 2 fcoLDSO0T ISISTÜY 

5. During the reign of 
(A) Chandragupta-I 
(C) Chandragupta-II 

(C) oaD= Ggng Gornns blaD 
Amnesty International is an organisation which campaigns for 
(A) Protection of animals from cruelty 
(B) Protection of historic monuments 
(C) Protection of human rights 
(D) Protection of environment 

(A) psamLD aByGÜg0 

(C) rsÑTL MLD GbBvGs 
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36. Which is the largest oil field in India ? 

(A) Ankleshwar oil ficld 

(B) Aliabet oil field 

(C) Gujarat coast oil field 

(D) Mumbai High oil field 

(B) Five years 
(D) Two years 

(D) 9isI ,oT QsoiT 

(A) yås Gavvout 

(B) Acetic acid 
(D) Lactic acid 

(B) yLqa Ybvb 
(D) NLqa ALaD 

the Buddhist Monk Fahien from China visited to India. 

(B) Samudragupta 
(D) Kumaragupta-1 

(B) FD`BIGÜB0 
(D) ps QUID GDNgG0S0 

LsiGLumw GuLGynalw 



37. Name the upward force exerted by water on a floating or partially submerged body. 
(A) Viscous force 
(C) Buoyant force 

(A) unw) alo4 

(C) ÔlgÜY lns 

38. Match the following : 
1) Shiv Nadar 

2) Narayan Moorthy 
3) Azim Premji 
4) Indira Nooyi 

(A) b, C, a, d 

(C) c, b, a, d 

LlciTaJ (5oU6TOIHaop uNGiSIS : 
1) aplo GTLT0 

2) BTgTWT Rpiiss) 

3) AD LIGgbg 
4) Sgn gruî 

(A) b, c, a, d 

(C) c, b, a, d 

(A) The Defence Minister 
(B) The President of India 

(C) The Prime Minister 

(D) None of the above 

(A) In5)SIÜLY yOLD�Sd 

-|1 

(B) 9uw 
(C) L9gsLD0 

(B) Frictional force 
(D) Gravitational force 

(B) 9_gTLIQ lns 

(D) yautiLy olons 

a) Pepsi Co. 
b) HCL 
c) Infosys 
d) Wipro 

(B) b, c, d, a 
(D) d, a, b, c 

39. The Commander-in-Chief of the Defence Forces is 

a) GuÜ pLDL� 
b) HCL 

c) sir Guno 
d) aGgT 

(B) b, C, d, a 

(D) d, a, b, c 

A 



40. Match the following: 
I) Green Carbon 

II) Grey Carbon 
III) Blue Carbon 
IV) Brown Carbon 

I II III IV 

(A) d 
(B) a 
(C) b 

C 

b 

C 

(D) a b d 

um(G`J5 : 

(A) d 

I) uGG) LD` 5T0U�I 

II) smL�uaU GI0IG`I 

IV) upÜy sn0u 

(B) a b 

(C) b c 

II III IV 

(D) a b 

d 

c 

a 

d 

C 

b. a 

d C 

(A) I only correct 
(C) I and II correct 

a) Carbon stored in Industrialized forests 
b) Carbon stored in atmosphere and ocean 

41. Statement I : NITI Aayog 

(d) 

c) Carbon stored in fossil fuel 

(a) Is a Think-Tank. 

(A) I DLLGD sfl 
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d) Carbon stored in biosphere 

a) G5npl£ guns 2(56JN`sÜUGU 51G)5oñlc GrLblaisÜLu� 

(b) It replaced Planning Commission of India. 

ounuJLD II: (c) Bg 

b) aJaflD oÖTL QJLD LD�DJLD SLGisoilo) GsbisÜG� sn0Lu 

Statement II : (c) Is headed by the President of India. 
(d) It has established in 2020. 

aunáswb I : BGuns 
(a) 9s FlbgnN GYNGLD. 

(B) II only correct 
(D) I and II wrong 

(b) 95unalcir SLL GYadG uSons 2(5auT`SÜULLs. 

OD 

GunaslGßT SONGut Gqgars B6DQUOui. 
Gunaonan pis9ST L S 5L'ILI=L HosT G 2020. 

(B) II oLLQæ sil 
(D) I Lo�DILD |l $0ug 



42. For which product Nachiarkoil has received GI tag ? 

43. 

(A) Mat 

(A) unu 

(A) Radio waves 
(C) Beta rays 

Waves used for cellular nbones to transmit voice communication in UHF (Ora 
High Frequency) band. 

(A) Ggg Gun y9 NSGT 
(C) SLLT 5BisGT 

(B) Coconut 

44. What is virtual water ? 

(B) GsasTn 

(A) Water hidden in clouds 

(C) Water that can be ordered online 

LDSDDßi TG�TD TSU GTGiTGST ? 
(A) GiDs`ISoÑl) LDnpiSGiGib Bi 

(A) Bacteria 
(C) Fungi 
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(B) Water available below the surface of the earth which is not easily accessible 

(A) un`Le fun 
(C) yÚDS 

(C) Kuthuvilakku (D) Bronze icons 

(D) Water consumed in the production process of an Agricultural/Industrial product 

(C) G`5/Olon`G (D) auiSQ)È Fna 

(C) DMDßos naaTJONuS GupLguyb 

46. Who discovered Blood Group ? 
(A) Louis Pasteur 
(C) Holst 

(B) Micro waves 

(A) grulov LITaVI.. ut 
(C) GapnebsivL' 

(D) Sound waves 

45. Which of the following exhibit both living and non-living charactere 9 

(B) DLD Ggn yNNSO0T 
(D) ynNS0T 

(B) Virus 
(D) Protozoa 

(B) nAgoi 
(D) yGom_GLIGsTOUT 

(B) Banting 
(D) Landsteiner 

(B) GuLq åi 
(D) GvTL'aVGLut 

A 



47. Statement I : The combined forces of the Deccan Sultanates defeated Vijayanagar in 
1565 AD (CE) at the Battle of Talikota. 

Statement Il: The Vijay anagar empire then shifted their capital further eventually to 
Chandragiri. 

(A) I only correct 
(C) I and II correet 

(A) I LDLGL� sî 
(C) I odpD II sît 

oun`Gu� I: G.i. Dut. 4,) 1565 � G g0aGsm'0L GUnla si5NG9I 

(A) Girl child below 18 years of age 
(B) Male child below 18 years of age 
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48. POCSO Act. 2012 gives protection to whom ? 

(B) II only correct 
(D) I and Il wrong 

(C) Both Male and Girl child below 18 years of age 
(D) Female above 18 years of age 

(C) Yellow 

BLITG GsT FLLLD, 2012 wnG`(G uNSJSITÜulGSpS ? 

(B) 18 wg BJbUNS YT GLO0S 

(B) II DL_QD F 

(A) 18 aJWS BILUTS GuG0IT (GPb GDS 

(A) w`o04 
(C) oHsoT 

(D) I Lo�DJLD II gOIDI 

(C) 18 aJWS BJDUTG HsoÝT LDDDIb GluGT SPHOS (D) 18 oJWSI BoLDLIu GlLGNIT GPbnS 

(A) Russian 
(C) American 

49. Phenolphthalein as an indicator which gives 
(A) Green 

OsTLAyoLwg) 
(A) gopwn 
(C) yonisn 

atoe G 

(B) Bluedidko 
(D) Pink 

(B) BaD 

50. Boston Tea Party in 1773, incident was related to 

colour in basic solution. 

(D) QarGHPlavLIY 

(B) French 
(D) Chinese 

(B) 9grGiro 
(D) FotI1 

War of Independence. 

(A 



51. Who is Malala Yousaf Zai ? 
(A) APakistan activist for female education 
(B) Beauty Queen - 2021 
(C) Olympic medal winner athlete from Pakistan 
(D) Pakistani Actor 

(A) OuGST 5GUOi511 UnsivgToflw tasd 
(B) 2021 aaT APG ITGai 
(C) QaLbL IBHSLD GlaucaTD InlovsnÜ SLL50T ÜTT 
(D) unsgN0I 5Lq. 50 

52. Choose the correct option. 
i) Linear motion 

ii) Circular motion 
iii) Rotational motion 
iv) Vibratory motion 

i ii ii 

(A) b 
(B) d 
(C) b 
(D) c 

i 

(A) b 
(B) d 

a 

(e) b 

a 

(D) c 

i) GpisGsn 
ii) oL Quisb 

ii 

iv) iay Qwasb 

C 

C 

a 

d 

53. Glucose is a 

d 

ii 
a 

C 

d 
d 

iv 

(A) Shiv Khera 

d 

(C) Prakash Aiyar 

b 

b 

(A) ofou Gsyn 
(C) gsna gui 

iy 
d 
b 

(A) Disaccharide 
(C) Polysaccharide 
(GGsro 1oóTLJS/ 

(A) = 6OL0 s'BSNJ 
(C) snLLG` si0isong 
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a 

b 

a) Movement of a swing 
b) A particle falling vertically downwards to the Earth 

c) Motion of satellite around the Earth 

d) Spinning of Earth about its own axis 

wasb a) 2ardhFolci 

«The Monk Who Sold His 
Ferrari"" 

b) Lyauoa GEriS alpib GunGoT 
uasb 

D 

54. The author of the book The Monk Who Sold His Ferrari" is 

(B) Monosaccharide 
(D) Isoleucine 

(B) �Gop st%DJ 
(D) gGsNgY NF0T 

(B) Robin Sharma 
(D) Stephen Covey 

(B) gmLoßT s0LD 
(D) LOUG0T G5/19) 

A 



55. Find the correctly matched pair. 
(A) Garlic � Anti inflammatory cures skin disease (B) Cardamon - Cures for skin and urinary problems (C) Red Chilli -Used to reduce blood sugar (D) Asafoetida - Vitamin � A rich 

(D) OuG HSTULD - uû iasa5) A LllGBunaS) 
56. Mac Mohan line is the boundary line between 

(A) India � Pakistan 
(C) India - China 

5TG50iG 
(A) 

0L GuwwnoT3| 
Sun - unsavgTG�T 

(C) Sun �SsIT 

57. Statement I: 
Statement II : 

(A) I only correct 
(C) I and II correct 
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(A) I LDL-QL� sf 
(C) I o�DJB || si 

(A) London 
(C) Bombay 

(A) GsTL GiI 
(C) UDUTÚ 

(B) Pakistan - Kashmir 
(D) India- Afghanistan 

Karur is known as "The Textile Capital" of Tamil Nadu. 

(B) unslsvgTG0I - s16LBi 
(D) Sun -

Tamil Nadu is the second largest software exporter in the country next to Karnataka. 

58. The Headquarters of 'BRICS' organisation 

(B) II only correct 
(D) I and II wrong 

(B) II DLLQL� l 
(D) I oDgLD l 501FI 

(B) Shanghai 

çsnosflavTT 

(D) Dhaka 

(B) agdiSTLI 
(D) LriGI1 



59. Statement I 

60. 

When the car engine is started with headlights turned on, they sometimes become dim. Statement II : Due to the internal resistance of the car battery. 
(A) I only correct (C) I and II correct 

atmosphere. 

(A) I oL'QLD f 
(C) I odDD Il sî 

(A) Global warming 
(C) Climate change 

oÜu nou Gu 
(A) Lyaî GaiuDWDTG0 

(A) The Elephant Whispers 
(C) Slumdog Millionaire 

(A) GTGSIUGT vU0N 

(A) I-a 

62. Find out the wrong pair. 
I) Vedanthangal 

II) Point Calimere 
II) Mudumalai 
IV) Mundanthurai 

(A) I-a 

IS Me Current Increase in temperature of the Earth's surface as well as its 

-17 

I) GsTLQ w`S0J 

I) (5JLDGD Q 
IV) paóÜTL BSJ6Dp 

(B) 

(B) II-b 

(D) I and II wrong 

(B) II LoLQL� Fl 
(D) I ojDJD |l 50Jg 

II only correct 

(B) IIbpe 

61. The Oscar Awards for the best documentary was gIven to which among the follovwing ? 
(B) All is quiet in the Northern Front 
(D) Dunkirk 

d) 

(B) Acid rain 

6TG�TGpmD. 

(D) Environment 

(B) qa LDGO 
(D) 

a) Chengalpet 
b) Vilupuram 
c) Nilgiris 

d) Tirunelveli 

F`GPU 

(D) LGTBi£ 

c) Bova 

(C) II c 

a) GsisaQLIL'_G) 
b) apÜypd 

u0paU Goues 
(C) III �c 

Gungl, 

(D) IV-d 

(D) IV�d 

3 (A) 
(8) 

(C) 51Q Bln omppb 

(C) aNGQULDLNG Lblvw6T0 



63. Jaisalmer wind park is located in 
(A) Gujarat 
(C) Odisha 

(A) Gggna 
(C) Iq4T 

(B) It is the birthday of Mahatma Gandhi 

64. Children's Day is celebrated on Nov. 14th because 

65. Match the following: 

(A) It is the birthday of Tr. Jawaharlal Nehru 

I) Law of Constant Proportion 
II) Cathode rays 

(C) It is the birthday of Tr. Subash Chandra Bose 
(D) It has been declared so by UNO 

III) Anode rays 
IV) Neutron 

(A) c 

(D) g$Sw prGsoT FDLI QilaD lalSSNÅ 

(B) a 
(C) b 
(D) d 

(A) c 
(B) a 
(C) b 

b 

(D) d 

III IV 

C 

a b 

I) GsGsn haGoiT 
III) Goan stsoir 
IV) Bygnc 

b 

a 

C 

II III IV 

C 

b 

a 

d 

b 

d 
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(B) Rajasthan 

b 

(D) Madhya Pradesh 

d 

(B) 

d 

(D) ogswo âgGgFÜ 
ngpsvgT6�T 

a) Sir William Crookes 
b) James Chadwick 
c) Joseph Proust 
d) Goldstein 

a) st onavlwo (e5`oi 
b) GgbaN FTLal� 
c) Ggrsç ÚOyaaVL 
d) GsnLaNIe GôT 



66. The list of eligible voters is called as 
(A) Electoral rol1 
(C) Polling roll 

(A) ouiSI1OT0 U=Qwi 

(C) GuT`iSOÑ 0LY ULIQw 

67. Match the following : 
I) Prithviraj Chauhan 

II) Qutub-ud-din Aibak 
II) Chengiz Khan 
IV) Khizr Khan 

I II III IV 

(A) a 
(B) d 
(C) b 
(D) c 

b 
C 

(D) c 

(A) a b 
(B) d 
(Cb a 

C 

C 

I) oNgn sorsNG�T 

d 

b 

II) LSavsnG�T 

d 

I II III IV 

(A) Darwin 

C 

d 

b 

(A) lodine 

C 

b 

(A) Lmiolsir 

a 

(C) Louis Pasteur 

(A) Gung cot 

b 

(C) QJuDon unGovLg, wt 
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(B) Campaign roll 
(D) Nomination roll 

a) Slave Dynasty 

(B) ugæ;6OJ LQwi 
(D) uULDGSTL0 LLQwi) 

b) Rajputs 

68. New species originates by the gradual accumulation of favourable variations - was told by 

c) Sayyid Dynasty 
d) Mongol 

a) L G0) LD JL�SLD 

b) gongusSgt 
c) 60FIS| JLDFL0 
d) LDBGsraui 

(B) Calcium 

(B) 51oFwLb 

(B) Lamarck 
(D) Ernst Hackel 

69. Which of the following 
mineral 

deficiency causes anaemia ? 

JDULL FNGSLDIGT GounLunGsoilsiT 

(B) TLDT0S 
(D) GT0G�TGVL Ganås0) 

(C) Sodium 

(C) BenIq uJLD 
SNGID Ly Gopaloano 

dstseQa 

(D) Iron 

(D) QGDY 

A 



70. According to 2011 census which State of India has lowest literacy rate ? (A) Uttar Pradesh 
(C) Maharashtra 

(A) 2 $9Jn L9G5sU 
71. The first telescope was invented by (A) Johann Lippershey 

(C) Johannes Kepler 

(A) GgTÖT aÜTGa 

72. Match the following: 
State 

I) Karnataka 
II) Assam 
III) Kerala 
IV) Gujarat 

(A) d c 
(B) a b C 
(C) c d b 
(D) b C 

I II III IV 

GunG0SJ5 : 

I) siTLLGT 
) yoiorvmLD 

II) GsgoTIT 

(A) d 

LDTBaNLD 

IV) G9ong 

(B) a 

(D) b 

b 

c 
b 

(Gc d 

I II III IV 

C 

(A) Inflation 

b 
C 

b 

a 

d 

(A) wo80TOJisb 

d 

a 

d 

d 
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c) Tea 

(B) Bihar 
(D) Odisha 

(B) Ssmt 
(D) 6T 

(B) Galileo 
(D) Claudius Ptolemy 

(B) 56l Gun 

Crops 
a) Oil seeds 

(B) Deflation 

(D) SoTITLQ. LJGU STOVLÉ 

b) Rubber 

(B) wG0016TLLD 

d) Coffee 

a) GToSTTÚ s|G500T 
b) ud 
c) GsuGoQ 

73. Taxes can be used as an instrument for controlling 

d) 5TÜL9 

(C) Stagflation (D) Disinflation 

(C) Ga50lh5b (D) Óoi JG8TOfisLD 



74. Which Newspaper was started by Tilak ? 
(A) Commonwheel 
(C) Chakaravarthini 

77. 

(A) 5TLD G�TOfo) 
(C) s`JAJHÝSof 

(A) Calcium Carbonate 

(C) Calcium Sulphate 

BBOSHoiT, 

75. Marine organisms such as Snails, Ovsters Shell is made up or 

(A) 5ToUFluwLb n0UGaTL 

(C) 516UwLb oU BUL 

(A) 1968 

(A) 1968 

(A) B, 
(C) K 

(A) B, 
(C) K 
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76. When was the Madras State renamed as Tamil Nadu? 

(C) 1969 (B) 1971 

(A) Coimbatore 

(B) Kesari 

(B) 1971 

(C) Kancheepuram 

(D) Swadesamitran 

(A) GsmJLDLJ`SIt 
(C) s7G;ygb 

(B) Gss 

(D) GssLBBSp 

is called �Coagulation Vitamin". 

(B) Calcium Chloride 

(D) Calcium Oxide 

(B) s76iuD G Gonnoog 

6T651 GIwt DmDDL� OuDDS ? 

(C) 1969 

(B) E 
(D) A 

(B) E 
(D) A 

78. In which district of Tamil Nadu Indira Gandhi Wildlife Sanctuary is located 

(B) Erode 

(D) 1970 

(D) Tirunelveli 

(B) Gon 

(D) 1970 

(D) S0B Gava) 

d 



79. Match the following 
I) Vellore Revolt 

II) Kol Revolt 

III) The Great Rebellion 
IV) Indigo Revolt 

(A) c 
(B) c 

I II II IV 

d 

(C) d c 
a d 

(D) a b c 

(C) d 

(A) c d 

a 

II) Gsnab Sonts 

(B c a 

II) GuH`ISOVSLD 

b 

V) s(%ßov`ETU Sort 
I II II IV 

(B) Propane 

(D) a b C 

(C) Butane 
(D) Methane 

d 

(A) Mercaptan 

b 

b 

(D) ßZGsii 

a 

LPG AaloóTL 

d 

(B) 4yGgnGust 
(C) 19uy'GLo 

b 

b 

SbixO 

a 

a) 1831 

b) 1859 

80. What is the chemical used to detect any leakage in LPG cylinders ? 

c) 1806 

d) 1857 

a) 1831 

b) 1859 

c) 1806 

d) 1857 
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82. Choose the right 
He often slept, 

(A) had not he 

81. Choose the word that can not be added after 'Key. 

(A) hole (B) board 

83. Choose the correct reported form for the following 
sentence. 

Ram said to Rakesh, �I want an ice cream". 

(A) Undefined 

(A) Ram said Rakesh he wants an ice cream 

(C) Very rarely 

(B) Ram told Rakesh that he wanted an ice cream 

C) Ram said to Rakesh that he wants an ice cream 

(D) Ram told to Rakesh that he wants ice cream 

(C) Owing to 

I can't accept your invitation 

(A) In spite of 

(C) note 

question tag for the following : 

84. Choose the correct meaning of the idiom Once In a Blue Moon". 

86. Choose the correct sentence. 

87. Fill in the blank. 

Each of the teams 

(A) were 

(B) isn't he 

85. Fill in the blank with the appropriate prepositional phrase. 

88. StatementI: The idiom Kick The 

PART -B: PsychologY 

(C) I and II correct / 

IV) Hasty 

(A) Neither Mani nor Mohan were given a trophy 

(B) Neither Mani nor Mohan was given a trophy 

(C) Neither Mani nor Mohan have given a trophy 

(D) Mani neither nor Mohan is given a trophy 

(A) 

89. Fill with suitable form of the verb. 

If Mary had an umbrella, she 
(B) wilI be 

(A) wil 

I 
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90. Match the following Antonyms : 

I) Shady 
II) Bored 
III) Panic 

b 

(B) a 
(C) 
(D) c 

dy a 

C 

(C) wasn't he 

b 
d 

Statement II: The idiom Bad Egg means A Dishonest or II|-behaved Person'. 

(A) I only correct 

IV 

(B) Randomly 

given a trophy. 

(B) have 

a 

b 

(D) Watching carefully 

a previous engagement. 
(B) In case of 
(D) In the event of 

(C) was 

Bucket' means to die? 

(D) lock 

(D) didn't he 

(B) II only correct 
(D) I and II wrong 

lend it. 
(C) would 

a) Calm 
b) Sunny 
c) Slow 
d) Interested 

(D) does 

(D) would be 



(A) G O5TL0 

92. PHARMACIST' 
(A) LDGb5T9HB0 (B) D( SIJT 

93. Qscit6n GTUÑ GiT Ly5(LpaGß iSGovugra JDuoasÜULLO)N 

(A) 
JDu05ÜULLwN ? 

(B) GFG�T G) GTUîlit 

(A) S aT Doli 
(C) yiSOI� 

(A) sLu + QoJUD 
(C) sLy + OoiU0 

(A) D6)QV6TOUTLD 
(C) LDGS) UGwiTD 

95. 'LuGaÜUb - G16i19)JLb GlsnovGNn LiBgI GI(P5` SÜg) 

(B) 9NL0GaTO 
QuwOJisaLb (D) O5miGIui 

97. 6f' roaTLIS6�T OIN(GoiT 
(A) Ba! 
(C) ,NT` FÍSILb 

98. 6uT SwLD I 

(A) I DLLQL� sÂ 
(C) I o�pJb II sf 

TLGIS. 
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100. 8ypásnJLD 

(C) QsalaSui 

(A) OsbBOUui 
(C) LL.GDL GBoTO) 

(B) GunguT0 - Aploupp at 
(D) GuT�pT0 � GLufwoi 

(D) Lo5bS) sic 

(B) 5L + OloJÜUL� 
(D) sLLUD +QoÜLD 

(B) LD0) 

(B) QLDWLDGD QN sd (8 

(D) Gs aipg HNGIDIBiva GgAGput. 

(B) II LDLQLD s 
(D) I o�gLD l g 

(B) GIOET0 
(D) alæ Ph0LD aülnopon 

Gugwasi 

QwmLDt 19019 AnLi 

(D) LDGQNGTGNQUTLD 



growth 
rate 

(QJat 

S5D) 

Observe the graph and answer the questions given below (101 - 102). 

JGDJILSNS 5Ouof g), &Gp Qs1QisÜUL'Qoiror Gs iTal sOHGÜ (101 - 102) 

30 

. 25 

20 

10 

2001 
to 

2002 

years ? 

ABC Company o growth rate in exports 

(A) one 

-2.5 

(A) poDI 

years ? 

(A) one 

(C) three 

2002 
to 

(A) pip 
(C) epiD 

2003 

20 

2003 
to 

(B) 

2004 

(B) twO 
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2004 
to 

17.5 

2005 
year (uGLL�) 

101. During how many years was the grOwth rate above the average growth rate over the given 

22.5 

2005 
to 

2006 

(C) three 

(©) poag 

(B) two 

(D) four 

9.5 

2006 
to 

102. During how many years was the growth rate below the average growth rate over the given 

2007 

(D) ncaG 

(B) ooG 

(D) four 

(D) sritG 

A 



103. 2% of 2 =? 

(A) 0.04 4 
(C) 0.02 

2% i 2 = ? 

(A) 0.04 

(C) 0.02 

104. Find the correct answer. 
Carpenter : Wood 
(A) Furniture 
(C) Cloth 

50F00 : LDJ`SL0G0L:: 0)SWUSgi:? (A) LDJaETLDITG0T 
(C) SIsil 

105. Find x. 

A 

(A) 150° 

(A) 150° 

Tailor :? 

2x 

2x 

x30° 

(B) s0° 

S30° 

(B) S0° 

B 
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(B) 0.4 

(D) 0.004 

(B) 0.4 

(D) 0.004 

(B) Dress 

(D) Sewing 

(B) 960L 

(D) 05WU 

(C) 180 

(C) 180° 

(D) 30° 

(D) 30° 



106. Find the number of squares given in the figure.ot deo 

(A) 12 

(A) 12co (B) 9 

1) Vegetable 
4) Cooking 

107. Arange the words into meaningful sequence. 
2) Market 

5) Food 

(A) 1, 2, 3, 4, 5 

1) sT 

4) F60 LDW 

(A) 1, 2, 3, 4, 5 

(A) S 

(B) 9 

(C) R 

(B) 2, 1, 3, 4, 5 

(A) S 

A R.D.Ss LoDDJLD V 

(C) R 4 
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5) 9_60OTO4 

(B) 2, 1, 3, 4, 5 

(C) 10 

10 

3) Cutting 

2) sB60S 3) BD)`GSÖ 

(C) 3, 1, 2, 5, 4 

(C) 3, 1, 2, 5, 4 

108. 5 girls A, R, D, S and V are sitting around a Pentagonal table. A is between R and D, S is to 

the left of V. R is to the left of S. Who is to the right of A ? 

(B) D 

(D) 11 

rs itel bns ilst 

(B) D 

(D) 11 

(D) V 

(D) 5,2, 1, 3, 4 

R ooMLD D $G QGu A t. S TG�TLJ ud V a(45 LSDD 2 6ÌTeTITÀ. 

(D) 5, 2, 1, 3, 4 

u5QuGiTS6T gGs1aor GDeNsow` HOD qotBS)G0TONOId. 



9. In a row of children. Bali is seventh 
from the left and Moti is fourth from the right. When 

Bali and Moti exchange 
positions, Bali will | be fifteenth from the left. What Will be Moti? 

position from right ? 

(A) Eighth 

(B) Fourth 

(C) Eleventh 

(D) Twelfth 

(A) GTLTOIS) 

(B) 5TcaTE5 ITOJGI 
(C) uGnGöIDITONgI 

(D) wGrGsfl g ossT LLTOIS| 
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110. Which one of the following diagram best depicts the relationship among Elephants, Wolves 

and Animals ? 

(A) 

(C) 

(B) 

g (D) 

(B) 

(D) 



Study the following Pie graph carefully and answer 2 questions given below (1 -112). 

GscirosGH`G (111-112) uSoailisayb. 

Cost estimated by a family in renovation of their bouse. Total cost estimated is Rs. 1.20,000. 

Flooring 
14% 

Electricals 
10% 

() 

Plumbing 
10% 

(A) Rs. 36,500 
(C) Rs. 36,000 

(A) e5. 36,500 

5 36,000 

Miscellaneous 
8% 

111. What is the cost estimated by the family on painting and flooring together ? 

and Architect fees? 

(A) Rs. 10,000 
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(C) Rs. 7,200 

(A) 5. 10,000 

Architect fee 

11% 

(C) e5. 7,200 

Interior 
decoration 

19% 

Painting 
15% 

Furniture 

13% 

112. What is the difference in the amount estimated by the family on Interior Decoration 

R (B) Rs. 34,800 

(B) e5. 34,800 
(D)' 5. 34,500 

LOSLILILÜULL O5nGDSLÎ) GTGiI6O1 GSunsb 

(B) Rs. 9,500 

9,600 

(B) 5.9,500 

wot.bsllevsL 

(D) 5. 9,600 

A 

ona (D) Rs. 34.500 



113. How many times in 12 hours the hands of a clock will be at right angles ? (A) 12 

(A) 12 

(A) 5-m 
4 

(A) 5-& 
4 

(A) 19 kms 

114. Saravanan's father bought 2 m, 2--m. 1÷m of cloth. Find the total length of the cloth bought by him. 

(A) 19 .8. 

(A) 9a?b² 

(B) 16 

(B) 16 

(A) 9ab² 

(B) 5; 

(A) N + M ×K 

2 

(A) N+ M× K 

3 

(B) 5-8 
2 

(9ab) (, FLDLDTGST GlGöT 

4 

116. Which one is equal to (9ab)² ? 

(B) 12 kms 

(B) 12 .L8. 

(B) 18a'b² 

(B) 18a'b² 

1 

2 

means that 'M" is the nephew of 'N'? 
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(C) 18 

(B) N x K + M 

(C) 18 

A 

115. Varun travelled 7 kms eastward, then turned left and travelled 5 kms. Next he turned left and travelled 7 kms. How far was he from the starting point ? 

4 

1 (C) 6= m 
2 

(C) 6-8 
2 

(C) 7 kms 

(C) 7s. L8. 

(C) 34ab? 

(C) 3tab 

3 

'M' G1GóTLJOJ0 N' 
(B) N x K+ M 

4 

(D) 24 

(C) M x K+N 

(D) 24 

(D) 

(C) M xK+ N 

4-m 4 

117. IfA × Bmeans A is the brother of B andA+ B means A is the father ofB then which one 

(D) 4-LÊ 

(D) 5 kms 

(D) 5 S.L8. 

(D) 3'a+b2 

AxBo1GID TG) A GrGóTLJOut B Dcor Bngd LDDOJLD A+B GroßTp TGÙ A GIGILIQut B 

(D) 3'ab? 

4 

(D) K x M+ N 

(D) K x M + N 



118. Which of the following diagram indicates the best relation between leaf, seed and root ? 

(A) 

9LGuwwnaT Fpis G5TL0GDI` (GISpSI ? 

(A) 42 cm 

) 

(C) 53 cm 
FLDI5 

6/1660145. 

(A) 42 cm 

119, Find the side of the equilateral triangle of perimeter 129 cm. 

(C) 53 cm 
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(A) 12 

(C) 15 

(B) 

(A) 12 

(C) 15 

(D) 

(B) 

(D) 

(B) 43 cm 

(D) 63 cm 

(Lpå GsrGT`SGIT SDpNo! 129 Gls. LB GTGoflo, 5GiT LIH5 yolSl` 

B43 

120. A family consisted of a man, his wife, his three sons, their wives and three children in each 

son's family. How many members are there in their family ? 

(D) 63 cm 
cm 

(B) 13 

(D) 17 

(B) 13 

(D) 174 

A 



The following bar diagram shows the number of students who applied for, appeared at (and passed in a certain exam (in thousands) for a given period. Study the bar diagram carefully and ans.. the 3 questions that follows (121 -123). 

3 olsIToîDG (121-123) lL Jajb. 

250 

200 

150 

100 

50 

1994 

(A) 47 

(C) 41 

(A) 47 

(C) 41 

1995 

the highest ? 
(A) 94 
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(A) 94 

1996 1997 1998 

(B) 95 

Year 

121. What is the approximate average percentage of failed students ? 

(B) 95 

Applied 

Appeared 

Passed 

(B) 59 

(D) 35 

(B) S9 
(D) 35 ^ 

94 

(C) 96 

202 

96 

198 

7 Applied (aaoSTGSST LIL 

95 96 97 

n n which of the following years the number of students who did not appear at the exam is 

204 210 208 

red (orepBuno 0 
A Passed (Gsit GUDDau) 

200 

(D) 97 

202 202 206 

120 115 120 122 126 

(D) 97 

98 

212 

Ssau) 
Appeared 



123. Which of the following years shows the best performance of thne passed students ? 
(A) 94 

loueunG s169TæUGSDSI ? 
(B) 95 (A) 94 

(A) Harish and Dhilip are of same height 

(B) Dhilip is shorter than Harish 

(C) Dhilip is shorter than Charu 

(D) Dhilip is taller than Raju 

(B) 95 

124. Harish is taller than Charu, but shorter than Raju. Charu and Dhilip are of same height but 

taller than Ashok, then which of the following option describes Dhilip? 

(A) anioftb S'yÓ GLD 2UugypGNLWuauisoit 

(A) 7% 

(B) Ssæ, pDlogDw a GTOTLDTGTOJG0T 1 

13 

-33 

(C) SSæ, sTGODu a GTOTLDITOAT OJo�To 

(C) 6% 
13 

(C) 96 

(C) 96 

(A) 79% 
13 

125. A shopkeeper bought a chair for 325 and sold it for 350. Find the profit percentage. 

(C) 6% 
13 

(B) 9% 
13 

(D) 7% 
13 

(D) 98 

QG 60LBSNgd BI�SNalow? 325 oroip alna( ouT`7350 G ajuNN 

(D) 98 

(B) 9% 
13 

-% 

ALD= S<KR. HR. 

13 

A 



126. Select the one which is d:ferent from other three responses ? 
3. 4, 5, 9 
(A) 3 
(C) 5 

3.4, 5, 9 
(A) 3 
(C) S 

(A) I only correct 
(C) Iand II correct 

127. Statement I : 108 is a perfect square number. 
Statemnent II : A cube has 6 faces. J 

(A) I DLQLO srf 

(C) I o�DJLD II sî 

(A) C 

UT0SwDI:108 T5) P5 (p(p ut5 GTG1G8TIT LD. 

(A) C 
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(A) East 

(B) 4 
(D) 9 

128. Among A, B, C, D and E each having different amount of money. C has nmore money than 
only E, B and A. Who among then has the highest amount of money ? 

(C) Easnere (D) Be (B) D 

(C) South 

(B) 4 
(D) 9 

(A) ypåG 
(C) GsjG 

B) D 

A, B, C, D odgD E rp gBS FUHs 5D Glasi Gaup nwt uSMD 

(B) II only correct 
(D) I and II wrong 

D 

(C) E 

129. Ramesh goes towards North, turns right, then turns right again and then goes to the let. 
Which direction is Ramesh facing now ? 

(B) West 

(D) North 

(D) L ̀ G 

(D) Bued D >E 

GnOIISHHBpnis oiT. C TG�TLJQJt E, B LoÖDLD A 606l as uTL� GHAG5 



130. If the sum of two numbers is 14 and their difference is 10. Find the product of the two 

numbers. 
(A) 40 

(A) 40 

College 

(131 � 133) GaLwaflisajb. 

B.A. 

B.Sc. 
L9.61ai).F. 

BþsoiTL3 aleanasOGGG 
Study the following table carefully and answer the 3 questions given below (131 - 133). 

L9.. 

B.Tech. 
L9.G` 

(A) 1230 

L.5LD. 

(C) 1010 

(A) 1230 
(C) 1010 

B.Com. 

(B) 48 

Degree A 
ULL� 

B.C.A. 

(B) 48 

L9..J. 

280 

140 

160 

230 

160 

S0T alsuwnsb 10 6763f e, 

B 

160 

-35 

150 

180 

(C) 24 

190 

250 

C 

(B) 960 

(D) 970 

220 

(D) 970 

120 

210 

250 

130 

(D) None of these 

(D) 5/oybn 

180 

100 

240 

210 

220 

C,D wDD E sovgnñson B.A. LDDDJLD, B.Sc. u=LÜILL`b 

131. What is the total number of students studying B.A. and B.SC. in colleges C, D and E 

together ? 

E 

200 

140 

180 

200 

210 

290x 19 o X DgD 

A 



132. What is the ratio of the number of students studying B.Com. in the colleges A, B and 
togetner, to the number of students studying B.C.A. in colleges C, D and E together ? 
(A) 67 : 56 

(C) 68 :36 

A, B Lo�DLDC56lATfro B.Com. (L9.6MD.) UIgaGLD LDITGSTOU0soflcit 616obTG0oii6NG`(GLD ,DLoMDDE s6bQIfsofÃ B.C.A. (L9.9..) uLgiGLD LDITGSTOItsolcit GToISTGÍlH 60G`GLD 

(A) 67 :56 J 

(C) 68 :36 

(A) 850 

(C) 950 

133. What is the total number of students studying all the given degrees in college D ? 

(A) 850 

(C) 950 

1, 6, 15, ?, 45, 66, 91 
(A) 25 

-36 

(C) 27 

D s6arul GsnGsGÜUL QiT OIT GD6TBSI ULLÜUIQÜysomujLD UIg�GL0 

1, 6, 15, ?, 45, 66, 91 

O01 

(A) 25 

(B) 60: 36 

(D) 60: 56 

(C) 27 

(B) 60 : 36 

134. Find the missing term in the following series. 

(D) 60 : 56 

(B) 730 

(D) 930 

(B) 730 

(D) 930 

(B) 26 

(D) 28 

(B) 26 

(D) 28 



135. If Lilly' is called LotusLotus' is called Rose', Rose' is called Sunfiower'and Sunfower' 

is called Jasmine' then which will be the National flower of India ? 

(A) Lilly 
(C) Rosesuuaateioa 

(A) ao) 

(C) Ggngn 

GTGST OJD, ´(GrflusBS', 'DùalanS OTOJLD H6DpasÜLLLTa), 9sunooit Gsu 

LDQui 6TGOT6OT ? 301 (O 

PEN' GGJOJNDTI5 (GuÜUQ� ? 

(A) 53 
(C) 35 

(A) 66 

(C) 36 

136. If 'BOOK is coded as 43, what will be the code number for PEN' ?d 

36 

-37 

G, H, J, M, ?, V 

137. Find the value of n, if 1 +2+3+.....+ n =666. 

(A) T 

(B) Lotus 

(C) R 

(D) Sunflower 

G, H,J, M, 2, V 

(B) 

(A) T 

(D) 

(C) R 

1+2+3+....t n=666 olGsflo), n-ulcoT LDÜLY 5160T45. 

(A) 66 

5TLD G0) J 

(B) 33 
(D) 43 

(B) 33 

(D) 43 

138. Choose the missing letter out of the given alternatives. 

(B) 34 

(D) 38 

(B) 34 
(D) 38 

snG0ULL DIDDJ5OÍl alQUL 

(B) S 

uIsn�S 

(D) Q 

(B) S 

(D) Q 

-

he 2 

A 

th-|3} 

(A) 53 
(C) 35 



39, Which will come in the place of question mark (?) 2 Find out from the options given : DGJ, FIL, HKN, JMP, ? 
(A) LON 

DGJ, FIL, HKN, JMP, ? 
(A) LON 

I) 100 Thousands 

140. Match the following : 

III) 1 Crore 

II) 1000 Thousands 

IV) 100 Crores 

(A) c 

(B) b 

(C) c 
(D) d 

GlumG`HJ5 
) 100 

I 

d 

(Ac 

a 

IIIl) 1 GsTLq 

(B) b 
(C) c 

b 

II) 1000 guîgD 

(D) d 

a b 

IV) 100 Gsm4 

b 

C 

a 

a 

II III 

b 

d b 

(B) LOQ 

C 

(B) LOQ 

b 

IV 

d 

IV 

a 

a) 

b) 

c) 

1 Billion 

10 Million 

d) 1 Million 

c) 

1 Lakh 

d) 

-38 

a) 1 L9bowi 

(C) LOM 

b) 10 LlwôT 

1 9aLFD 

(C) LOM 

1 6ovSlwi 

(D) LOR 

(D) LOR 

D 

A 


